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10 — 14 18(34.0) 35(66.0) 53(100.0) 22=1.69
15 — 19 5(25.0) 15¢75.0) 20(100. 0) df=4
20 — 24 8(29.6) » 19(70. 4) 27(100.0) p>0.05
25 o] A 5(35.7) 9(64.3) 14(100,0)
A 45(33.3) 96(66.7) 135(100. 0)
(H 2-2 VR I S| 7 s 2 F
% aTRHF AbAl A o] Aol 3t gte e
(%) @& = g = —
gl Az 2 A 0 1 A
Ad 54 = (%) == (%) = (%)
il K
20 — 24 5(62.5) 3(87.5) 8(100.0) _
25 — 29 28(73.7) 10026. 3) 38(100.0) xi=1.65
30 — 34 35(65.5) 19(34.5) 54(100. 0) df.=4
35 — 39 20(74.1) 7(25.9) 27¢100.0) p>0.05
40 — 4 4 4(57.1) 3042.9) 7(100.0)
) 93(68.9) 42(¢31.1) 135(100.0)
z & 4 = '
= = 23(52.3) 21(47.7) 44(100.0) x2=22.51



135¢100. 0)

= 31(60. 8) 20(39.2) 51¢100.0) d.f=2
= 30(97.5) 1 2.5) 40¢100. 0) p<0.05
7 93(63.9) £2(31.1) 135(100.0)
B] &8 A 4
A4 28(84.8) 5(15.2) 33(100.0)
4 - A g 27(65.9) 14¢34. 1) 41¢100.0) £°=6.55
= " q 25(67.6) 12(32.4) 37(100.0) d.f=3
> F AT A 13(54.2) 11¢45. 8) 24¢100.0) p>»0.05
A 93(68.9) 42(31. 1) 135(100.0) ‘
935 T+ (2D
5 — 9 12¢57. 1) 9042.9) 21¢100.0)
0 — 1 4 35(66.0) 18(34.0) 53(100.0) z'=3.78
5 — 19 15(75.0) 5(25.0) 20(100.0) d.f.=4
0 — 24 19070, 4) 8(29.6) 27¢100.0) p>0.05
o] Ak 12(85.7) 2(14.3) 14(100.0)
] 93(68.9) 42¢31.1) 135¢100.0)
2-3 & (=3 A = T
7E 8T SAF FAAE g8 o
(%) GU2D G sAZE
TALE) 8 A 0 1 A
e 54 = (%) T+ (%) = (%)
o = \
20 — 2 4 4(50.0) 4¢50.0) 3(100.0)
25 — 29 17(44.7) 21(55.3) 38{100.0) z*=3.49
80 — 34 34(61.8) 21(38.2) 55¢100. 0) d.f.=4
35 — 39 15(55.6) 12044. 4) 27(100.0) p>0.05
40 — 4 4 5¢71.4) 2(28.6) 7(100.0) .
) 75(55.6) 60(44. 4) 135¢100.0)
z % + & ,
= 2 27(61.4) 17(38.6) 44¢100. 0) £°=0.89
= -2 27(52.9) 24(47.1) 51(100.0) d.f=2
z T oo & 21(52,5) 19(47.5) 40¢100.0) p>0.05
A 75(55,6) 60(44. 4) 135(100.0)
1} = R} A
3%]- : ,J]. ] Zi 20(60.6) 13(37.4) 33¢100. 0)
A% . A9 24(58.5) 17(41.5) 41¢100.0) 28=5.07
] % A. < _15(40_5) 22(59.5) 37¢100. Q) d.f=3
B AR o3 16(66.7) 8(33.3) 24(100.0) p>0.05
A 75(55. 6) 60(44.4) 135(100.0)
99 (1) \
5 — . @ 1466.7) 7032.3) 21(100. 0
10 — 14 29(54.7) 24(45.3) 53(100. 0) ZP=2.55.
15 — 19 9(45.0) 11(55.0) 20¢100.0) d.f.=
20 — 2 4 (L9 13(48. 1 27(100.0) p>0.05
25 o A 9(64. 3) 5(35.7) 14¢100. 0)
Al 75(55. 6) 60044, £)

(46)



AN
EH
L
*
-
i
rH
o
e
fan
5]
-4

REATF 998 AAdds g
Adngaie = 3(0—3)4 ~ PaaAs
a7, A
AATH B ® F BEEA
4 % -
20—2 4 .62  0.51
2 5-—2 9(38) .47 0.86 TF(4.130)
3 0—3 4055 133 0.75 =0.80
3 5—3 927 1.55  0.85 p>0.05
4 0—4 4 114 0.38

A (135) .42 0.78

z 5 & F

= Z(44) 150  0.73 F(2,132)

= 2D 154  0.71 =3.01

= 2 o] AU 117 0.84 p<0.05

LA (18 142 0.78

¢ o2 A g

g A 23 .21 0.7

A 6] . Ab & (41) 1.3 0.85 T(3,13D

A S A (3D .70 0.66 =2.78

el 1.46 0,18 p<0.05

A (135) 1.42  0.78
YT L)
‘5 — 92D 1.33 0.65

1 0—1 4(53) 1.45  0.91 F(4,130)

1 5—1 920 155  0.68 =0.71

2 0—2 427  1.48 0.70 p=0.05

2% o] A1) 114  0.66

A (135 1.42 0.77

A AEDE Bg BEE = 2--39 JEhd afel

Zrol el A7t G (P>0.05)

4) 498 AR FEeTF AP

G ApdRe LEeF AfE LAFA
AR A, QAFFIAFE FEleA 0~32 2
2 AF) EE 45 23 eT7 gdn & 4
9 k.

A 5 eT A5 T AERAE
2z 1429 0.782 5 e FrF WlzA e
23T Sprb 2A $AH 9A ged ¢
T vt '

A2E T, A8 2 AR A A
Z5eE B ] Afa AAdE ZEeT
9l ; 2—Aol| A & Fro] f2le] Ayt eldA

A ZAR el
P B

25Tk gl AL 40.7%) 7k & 3L
ﬂ]%ﬂ%ﬂﬂJWIﬁﬁﬂﬂﬂﬂ = 254

e fe
B pL
Shoot
RS P
&

il

[aar)
o
fr I“E A
o
o 17
Je F

~
M Ol
b
o fr

[
—\1{1 =i,
32, o%
Ay

KB
X,
_OI_I'
i
i

BT Qe AR 47.4%0] 5.

< ALy 28 T, AHFE il 7oAk
Brlabtol] W& ZkE e T HgREdE
AE(P<0.06) & 5 gglrhE2E 3

#

i
gy e

| 1
[N
—
: E_DJ_E'Q,OSP.;

fo B[ &
NG i FO’ FJ[' -Ih'l

2 e

ju

L

i"L

N

FL

&
rmi
G, -
ﬁ.
nﬂn[

W%H%

RE 495 408 F A3 2 AATHF
A Al Arky]F £5 W8 2hs o9y
SEFE T 3348 2ol w8 AE ek

Wz g EH(P<0. 05).
F pEgEe] worRd =uh d FTTel

(47



Fay
EH
[+

1
o

v
Elig
=
H
Ll

™
for
[

-

AT QTR 24 A6 G378 EublE 434 HE pEeT
=(9) (e =) (sl =h) ‘ A =
97, A2 9 7 0 o A o
AT 24 = (%) + (%) < (%)
20 2 4 5(62.5) 2(37.5) 8(100.0)
25 — 29 25(65.8) 13(34.2) 38(100.0) x*=6.87
30 — 3 4 34(61.8) 21(38.2) 55(100.0) d.f=4
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ABSTRACT

A STUDY ON NURSING NEEDS OF RESIDENTS OF HONG EUN
2-DONG, SUDAEMOON-KU, SEOUL ACCORDING TO THEIR
SEX, AGE, AND SOCIAL AND ECONOMICAL CHARACTERISTICS

Duck-Ja, Oh
Seoul Nursing
Junior College

The main contents of Primary Health Care Service are Maternal Child Health Care
Services and most of that can be taken care with nursing services.

Nursing needs differ according to characteristics of family as unit of nursing service
and this study aimed at ffleasuring ﬁursing needs of maternal child health of families
in selected area and differentiating the nursing needs of families according to sex,
age and their social and economical characteristics.

About 280 families of Hong Eun 2-Dong were selected by systematic sampling with
random start and data were collected through direct interviewing with question are
prepared for this study. '

Respondents were limited to the house wives of age between 20 and 49,

As the method of statistical analysis, x? test and F test methods were used. The
result of study can be summarized as follows: }

1. Range of age of the respondents were from 20 to 49. The percent distribution of
respondents by age brackét is as follows:
Twenties-20 percent
Thirties-48 percent
Forties-32 percent

About 60% of them finished more than primary school and, 199 of the housewives

had husbands who were either laborers or without job.

Almost half of them didn’t have any religion whatsoever and 66% of the respondent

had average monthly income of less than won 200, 000.

2. More than majority (67%) of respondents experienced side effects from preghancy

during the prematal period. .

Over one third of the respondents never had a prenatal check up during the preg-

nancy.

Almost a half of them (44%) had some kind of food limitation due to tahoo.

3. Almost a half of the family didn’t have proper help from medical doctor or midwife
and delivered at home. More over 18% didn’t sterilize the umlilical cord cutting
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Instruments.
+. Approximately 30% suffered postpartum symptoms and 562 had less than 10 days
of postpartum confinement.
Almost 80¢ didn’t have correct knowledge abouL puerperium.
5. Mean and standard devialion of composite index of nursing needs of maternal child
health were 4.10 and 1.74.
This indicated that comparatively large number of families had maternal nursing
nceds and their nursing needs didn’t differ much.
As the housewives of the families whose level of education and their average mont-
hly income Weré low the more composite index of maternal nursing care needs were
increased. Those whose husbands were laborers or jcbless had more nursing  needs
than others. ' ‘
6. Almast 609 of the famﬂlcs had never received health education in relation to child
health care. ‘ ‘ .
Only 44% of them had their children immunized against common childhood infectious
disease. .
Approximately 609 of the housewives mentioned that they did feed babies colostrum
and 73% of them stated that the pabies were not fed supplementary food. The lower
the level of education was, the more composited index.of child nursing care needed.
7. More than 50% housewives had at lcast one experience of artificial abortion and
' 559 of them had presently more than 3 living children. ‘
Albcut one fourth (26%) of them had experiences of still birth or spontaneous abor-
ticn znd 40% didn’t have knowledge about family pldnmng methods.
More family planning nursing care needs could be found among the wives who
finished primary scheol or senior high scheol and among those who were older than
fourty years - .
Based upen the lc:gults of this study, the tollomng sugqesilons can be drawn: One
may safely conclude that maternal health care of the families in the big city like
Seoul is neglected in mauny respects. ‘
Therefore Ministry of Health and Social Affairs must try to meet the needs of
maternal-child health carc and family planning services of the urban families by
comraunity Health nursing service approaches.
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